Government Tender Notice

<u>Invitation of Tender Notice Nos.106,107,108,109,110,112,114/Seri/Eng/Civil/PCR/MID(W)/2019-'20.</u>

Sealed Tenders are invited by the Executive Engineer, Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2nd floor), Kolkata-13 for the following works in the district of Paschim Midnapur from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department / Zilla Parishad.

NIT	Name of the Work	Estimated Cost	Earnest Money	Place of Work.	Time of completion of work.
106	Repairing of Godown at Neguria Tasar Project Centre, Banspahari, Paschim Midnapur under PCR.	Rs. 2,51,991.00 (Rupees Two lakh Fifty one thousand nine hundred Ninety one) only.	Rs. 6300.00 (Rupees Six thousand Three hundred) only.	Neguria Tasar Project Centre, Banspahari, Paschim Midnapur	1 (One) month from the date of issue of Work Order.
107	Repairing of Rearing house no. 1 at DPAP Farm, Jhargram, Paschim Midnapur under PCR.	Rs. 3,70,290.00 (Rupees Three lakh Seventy thousand two hundred ninety) only.	Rs. 9260.00 (Rupees Nine thousand two hundred Sixty) only	DPAP Farm, Jhargram, Paschim Midnapur	-do-
108	Remodelling of Office room and computer room at Debra Grainage building, Debra, Midnapur (West) under PCR.	Rs. 99,267.00 (Rupees Ninety nine thousand two hundred sixty seven)only	Rs. 2485.00 (Rupees two thousand four hundred eighty five) only	Debra Sericulture Complex, Debra, Midnapur (West)	-do-
109	Sanitary and Plumbing works with allied works at Cocoon Market building at Debra, Midnapur (West) under PCR.	Rs. 99,815.00 (Rupees Ninety nine thousand Eight hundred fifteen)only.	Rs. 2495.00 (Rupees Two thousand four hundred ninetyfive) only.	Cocoon Market building, Debra, Midnapur (West)	-do-
110	Addition and alteration of Guest room and 3 nos. Toilet at Office of the Deputy Director of Sericulture, Midnapur (West) under PCR.	Rs. 99,847.00 (Rupees Ninety nine thousand eight hundred forty seven)only.	Rs. 2500.00 (Rupees Two thousand five hundred) Only.	Office campus of Deputy Director of Sericulture, Midnapur (West)	-do-
112	Repairing of Doos and allied works for Grainage building and Irrigation pipe line works at DPAP Farm, Jhargram, Paschim Midnapur under PCR.	Rs. 1,47,727.00 (Rupees One lakh forty seven thousand seven hundred twenty seven) only.	Rs. 3695.00 (Rupees Three thousand six hundred ninety five) Only.	DPAP Farm, Jhargram, Paschim Midnapur	do
114	Construction of path way from Rearing house no. 1 to main road at Debra Sericulture Complex, Debra, Paschim Midnapur under PCR. (Length - 18.00 m)	Rs. 73,478.00 (Rupees Seventy three thousand four hundred seventy eight)only.	Rs. 1840.00 (Rupee's one thousand eight hundred forty) Only.	Debra Sericulture Complex, Debra, Paschim Midnapur	-do-

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from seriwbgov.org at free of cost.

Last date & time of submission of Tender	03.02.2020 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	03.02.2020 upto 3-30 P.M. at Head Quarters, Kolkata.

Tender should be submitted / dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelop - I, should be superscribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD & Pest Control License etc for NIT No.124 and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of the Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable.

Labour Cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal, 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./ K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Acceptance of lowest Tender is not obligatory.

Notwithstanding anytime contained in this Notice Inviting Tender, the other terms & conditions and special

terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

Dated, 23 12 2019.

Memo. No. Sos (3) Seri/Eng/Civil/PCR/MID(W)/5(Vol.-4),

Copy forwarded for information & necessary action to :-

1. The Deputy Director of Sericulture, Midnapur (West)

2. The Notice Board of this Directorate.

3. The Website of this Directorate.

Executive Engineer,
Directorate of Sericulture,
West Bengal.

Priced schedule for the addition and alteration of Guest room and 3 nos. Toilet at Office of the

eputy	Director	of Sericulture, Midnapur (West) under PCF	unit	Quantity	Rate	А	mount
		· · · - · of work	Each	2.00) 14	21.00	2842.00
	1 Supply	ing, fitting and fixing E.W.C. in white glazed vitreous	Lacii				
	chinaw	vare of approved make complete in position was					
	necess	ary bolts, nuts etc.					222.00
		51 1 Leak winal (half stall	Each	2.0	0 9	945.00	1890.00
	2 Supply	ying, fitting and fixing Flat back urinal (half stall	Lacri				
	urinal) in white vitreous chinaware of approved make in					
		on with brass screws on 75 mm X 75 mm X 75 mm				202.00	604.00
	wood	len blocks complete. lying, fitting and fixing Closet seat of approved make	Each	2.0	00	302.00	004.00
	3 Supp	lying, fitting and fixing closes					
	1	lid and C.P. es, rubber buffer and brass screws complete.			20 2	2208.00	6624.00
		fiving white vitreous chille best	Each	3.0	00 2	2208.00	002
	4 Supp	llying, fitting and fixing white videous litting and fixing white videous configurations and fixed basin with C.I. brackets on 7	5				
	quan	X 75 mm wooden blocks,					
		t- fittions			00	1613.00	1613.00
	-	wing fitting and fixing Orissa pattern water closet in	Each	1.	00	1013.00	
	1. 1.	lared witroous chinaware of approved man	1				
	nosi	te glazed vitteous criments (P' or 'S' trap (excluding cost					
		anata for fiving)			.00	2869.00	5738.00
		Lie fitting and fixing Flat back urinal (half stall	Each	2	.00	2005.00	
		I) in white vitreous chinaware of approved many					
	nos	sition with brass screws on 75 mm X 75 mm X 75 mm					
					00.1	881.00	0 881.00
		time fitting and fixing Squating plate with integral	Each	9	1.00		
	flu	shing in white vitreous chinaware of approved make	in				
4	1	16.2.11			2.00	1015.0	0 2030.00
	0 0	polying, fitting and fixing 10 litre P.V.C. low-down cis	tern Each		2.00		
		specification with P.V.C. Ittings	1				
	cc	omplete,C.I. brackets including twocoats of paintin g t	.0				
		racket etc.				520 (1078.0
	4:) Chromium plated Bib Cock short body (Equivalent to	Each		2.00	539.0	10,0.0
	9 (1	ode No. 511 & Model - Tropical / Sumthing			1		
	C	ode No. 511 & Woder Trops	Tk		2.00	674.0	00 1348.0
	100	hromium plated Concealed Stop Cock (Equivalent to	Each	1	2.00		
	10	Code No. 514(A) & Model - Tropical / Sumthing Special	11 01		1		
		iilar brand)	Eacl	h	3.00	75.	.00 225.0
		fiving approved brand 32 mill		''			
	1	dia P.V.C. waste pipe, with PVC coupling at one	tica	11			
	,	with necessary clamps. 900 mm long			22.00	874	.00 19228.
-	12	Supply of PVC pipes & fittings Schedule 80 (medium o	duty) m		22.00		10.000
		conforming					
		to ASTMD - 1785 and threaded 100 mm dia			2.00	6/12	2.00 1284
		PVC Tee , 100 mm dia	Eac	ch	2.00	042	
	13		Eac	ch	2.00	349	9.00 698
	14	PVC Tee , 80 mm dia	La				1776
			Ea	ch	3.00	592	2.00 1776
	15	PVC band 80 mm dia					
			Fa	ch	3.00	59	2.00 1776
	16	PVC door band 80 mm dia	La				1 00 16813
		Supplying, fitting & fixing 1st quality Ceramic tiles in	walls Sc	ım	23.0	0 73	1.00
	17	Supplying, fitting & fixing 1st quality ceramic state and floors to match with the existing work & 4 nos.	of key				
		and floors to match with the Floor					
		stones (10mm) fixed with. In Floor					

	Supplying, fitting and fixing approved brand P.V.C.	Each	3.00	117.00	351.00
18	CONNECTOR white flexible, with both ends coupling with	Lucii			
	heavy brass C.P. nut, 15 mm dia.		2.00	803.00	2409.00
19	Supplying, fitting and fixing cast iron 'P' or 'S' trap conforming to I.S. 3989/ 2009 and 1729/ 2002. S trap	Each	3.00	803.00	2409.00
9	/	Cum	0.90	6014.32	5412.89
20	Ordinary Cement concrete (mix 1:1.5:3) with graded stone	Cum	0.50	19000 1000 10	
	chips (20 mm nominal size)	C = 100	8.00	890.00	7120.00
21	Labour for shifting of Aluminium partition. Partly glazed	Sqm	8.00	030.04	
	and partly panelled partition or fixed glazing made of extruded and anodised alloy aluminium sections,				
	fabrications after				
	cutting to proper shape and size,			207.00	3096.00
2	Supplying, fitting & fixing of Aluminium fixed partion wall	Sqm	8.00	387.00	3090.00
2.	of all aluminium sections viz top, bottom and side				
	member, 1.50 x 5.5 = 8.25	0 11	0.50	7046.00	3523.00
2	3 (a) M.S.or W.I. Ornamental grill of approved design joints	Qntl	0.50	7040.00	
	continuously welded with M.S, W.I. Flats for Grill Gate.				
					88359.89
	Total		88360.00	0.12	10603.20
	Add 12 % as GST		88360.00	0.01	883.60
	Add. 1% as Labour Welfare Cess		Total		99846.69
	(Rupees Ninety nine thousand eight hundred forty seven) only.				

Executive Engineel

Directorate of Textiles (Sertculture:

Sovernment of West Bengal